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Torneo del Venerdi pomeriggio - Sede ABL Lamone -1103.2016

Board 1
NS Kontrakt Aussp. Ergebnis
9 N4 = 98 420
8 N4 +1 #B 450
4 N3 +1 4B 170
7 N4e = 4B 420
2 N4e = 4B 420
10 N 3 +1 98 170
Board 3
NS Kontrakt Aussp. Ergebnis
9 W2ae = LXK 110
8 S3¥ -2 ¢4 100
4 W3SA = &9 600
7 W26 -1 &4 100
2 W2ae = *7 110
10 W3SA -2 %3 200
Board 5
NS Kontrakt Aussp. Ergebnis
10 O2# -1 $A 50
9 N3& = &A 110
1 N2& +2 &A 130
5 S3& = ¢A 110
8 N4d = @&A 130
3 NG5& -2 &A 200
Board 7
NS Kontrakt Aussp. Ergebnis
11 N3 = 93 140
10 S 36 = 4K 140
9 S 3 +1 4K 170
2 W39 +1 &K 170
6 O3¢ -1 &2 100
1 S 36 = 4K 140

ow

12
11

12
11
5

ow

12

MP
4,0
0,0
9,0
4,0
4,0
9,0

MP
7,0
4,0
10,0
2,0
7,0
0,0

MP

8,0
50
1,0
50
1,0

11 10,0

ow

g0 0 W N b

12

MP
4,0
4,0
0,0
10,0
8,0
4,0

MP
9,0
3,0
3,0
3,0
3,0
9,0

MP
7,0
7,0
0,0
7,0
7,0
2,0

MP
10,0
2,0
2,0
7,0
2,0
7,0

MP
10,0
4,0
4,0
0,0
4,0
8,0

NS

N N b~ 00 ©

10

NS

10
9

w o0 O =

NS

10
9

w o U1 -

Board 2
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O 25A -1
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W1SA -2
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W1SA -2
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a4
¥3
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%9
¥v2
%8
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L !
oD
L !
a4
a4
a4

Board 6

Kontrakt
N 2SA =
N 3SA -2
N 25A -2
N 3SA -1
N 3SA -2
N 3SA -1

Aussp.
YD
¥v10
YD
a2
YD
YD

Board 8

Kontrakt
O 29 +3
049 +1
049 +1
049 +2
O 59 =
W54 +1

Aussp.

%6
B
B
45
MA
%3

Ergebnis
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Board 9

NS Kontrakt Aussp. Ergebnis
11 O 64 +1 H10 1390
10 O 6¢ = 10 1370
9 WH5SA +2 &7 720
2 WT7SA = &3 2220
6 WA4SA +3 &B 720
1 064 +1 10 1390
Board 11
NS Kontrakt Aussp. Ergebnis
12 O44¢ -1 WA 50
11 W3¢ +1 ©9A 130
10 O 4é -2 &8 100
9 W3e -2 92 100
3 044 +1 ©A 150
7 03¢ = &8 110
Board 13
NS Kontrakt Aussp. Ergebnis
8 S 34 = &8 110
12 S 24 +2 &8 130
11 S 3% +2 96 150
1 S 2& +1 &8 110
9 S 3 = &8 110
4 S 44 -3 &8 300
Board 15
NS Kontrakt Aussp. Ergebnis
8 O 1SA +1 &5 120
12 O 1SA +1 &5 120
11 O 1SA = &5 90
1 WI1ISA = 45 90
9 W29 -1 4¢A 50
4 O2SA -1 &5 50

oW MP
4 70
7 40
3 10
8 10,0
5 10
12 70
ow MP
2 40
5 80
8 10
4 10
1 100
6 60
oW MP
7 60
3 20
6 00
10 6,0
5 60
2 10,0
oW MP
7 90
3 90
6 50
10 50
5 10
2 10

Board 10

MP NS Kontrakt Aussp.
20 12 N 39 +1 &A
20 11 S 39 +1 @A
100 10 N 49 = &A
70 9 O34 -3 ¥D
20 3 N 39 +1 &A
70 7 O3s -3 ¥D

Board 12

MP NS Kontrakt Aussp.
50 12 W3 = YK
20 11 O4e +1 WK
00 10 W4e X = &8
100 9 W3e -3 WK
80 3 S 39 = DA
50 7 W3&é = 8

Board 14

MP NS Kontrakt Aussp.
60 8 N 44 = VA
30 12 O 49 X -1 &2
30 11 O 49 -2 2
100 1 S 4 = YK
8,0 049 X -2 43
0,0 O 39y = 2
Board 16

MP NS Kontrakt Aussp.
50 W3e +1 a3
10 1 W3SA = ®10

10,0 12 W54 X -2 &10

1,0

O 3S5A = ¥5

50 2 W3¢ +1 ¥10
80 9 W3¢ -1 10
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8 00
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4 00
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10 00
5 20
2 100
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3 50
8 90
4 00
11 90
10 50



MP NS Kontrakt Aussp. Ergebnis
40 5 019 +1 &5 110
60 1 S 1SA -2 &5 100
90 12 W3SA -1 ¥3 50
90 7 039 -1 &3 50
10 2 W2SA +1 %3 150
10 9 WI1SA +2 &2 150
Board 19
MP NS Kontrakt Aussp. Ergebnis
50 6 S 46 +1 ¢7 450
50 2 N 46 +1 VA 450
50 12 S 46 +1 SdA 450
50 8 S 4é +1 4K 450
00 3 S 6 -1 VA 50
100 9 S 56 XX = WA 1000
Board 21
MP NS Kontrakt Aussp. Ergebnis
40 6 W5 +1 WA 420
00 2 WS3SA +3 43 490
100 12 W34 +3 WA 170
6,0 8 W5H = VA 400
20 3 W3SA +2 9A 460
80 9 O26 +4 W6 230
Board 23
MP NS Kontrakt Aussp. Ergebnis
100 7 W2SA -2 &5 200
10 3 W2SA +1 &K 150
80 6 W3% -1 &K 100
50 1 S2SA -1 4B 100
10 4 W2SA +1 &5 150
50 9 N2& -1 &8 100
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Board 18
Kontrakt Aussp. Ergebnis OW  MP
049 -3 &3 150 3 00
029 = N2 110 8 8,0
039 -1 &2 50 4 40
wW5¢ = &K 550 11 10,0
W54 -1 &K 50 10 40
W54 -1 &K 50 6 40
Board 20
Kontrakt Aussp. Ergebnis OW  MP
N2& -1 @7 100 4 6,0
026 = B 110 1 80
N 1SA = &3 90 5 30
029 +2 4B 170 11 10,0
S1SA = &4 90 10 3,0
W1SA -1 &2 100 7 00
Board 22
Kontrakt Aussp. Ergebnis OW MP
S 39 -3 HA 150 5 80
N 39 -3 &A 150 2 80
W3SA -1 43 100 12 00
S 3¥ -3 49 150 11 8,0
W2SA = @7 120 10 2,0
O 36 = 2 140 8 4,0
Board 24
Kontrakt Aussp. Ergebnis OW  MP
S 3% = &K 140 5 40
N 39 -1 47 50 2 70
N 29 -2 47 100 12 10,0
N 29 +2 &7 170 11 10
N 49 -1 &7 50 10 7,0
N 3¢ +1 4K 170 8 10



